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Which state
lndia?
(A) Kerala

has the highest densitY of roads in

(B) Tripura

(D) Maharashtra

2. The signs marked in this circle are..

(B) cautionary

(o) all of these

QJeslion ld :2

You should only use a mobile phone when
(A) receiving a call.

(B) the vehicle is stationary & parked suitably'

(c) driving at less than 30 kmph

(D) driving an automatic transmission vehicle.

How can you distinguish a transport vehicle ?

(a) By looking at the tYre size.

(B) By colour of the vehicle.

(c) By looking at the number plate of the vehicle'

(D) None of these

\r/
(A) mandatory

(C) informatory

(c) West Bengal

All motor vehicles must be covered by

(n) Life Insurance

(s) Third party lnsurance

(c) Comprehensive Insurance

(D) None ofthese

Qrestion ld : '1

Qreslion ld :4

Who has been

Director of the
constituency of
Srilanka?
(A) S. Aparna

(c) K. C. Sampat

appointed as new Executive

World Bank to represent the
India, Bangladesh, Bhutan and

(B) Subhash Garg

(D) Rini Simon

z. Fs Tn g 3iffi-a furt H

CI
(A) sftfl:f
(c) lTqffqs

rrrqo ii ftmr qr-q
qrq-{f,r tz
(A) fr-{f,
(c) qRqq GiTrc{

q lr-€-d qtl

(B) fdsr
(D) q6ffiE

(B) rl-A-ilfr
(o) t nfi

Q./eston ld : 1

dz

Sreston ld :5

QJeston ld :6

erTq+) *.il{d qtq tm trqtrl
qrfrq, qqf
(A) oT-d 1ffi-q fr-{d * |

(e) qrgq qsl d etrq sfufl tn,q

(c) 30 kmph € oq qfr w qr{q
(D) {qflnfa €qqrr Erf,{ q[Sq

4. eilq qRqEq qrg{ o} N qgqn
(A) errr{ o1 qrrgo ecffi-{
(B) qrffT cnl vq tqqx
(c) qrf,q frt qqq Qs +sfi-{
(D) fli d Etg TS

r{fi +.{ ql-f,{ frq ET{r
(A) fiirq fiqr (Bl

(c) qpqa; ftfl (D)

qfidt
o-q € e\t

€tit
Q.restion ld :3

o-{q Er

fffo '
{{q€

qTRg :

ftqI
otg q-€i

ql-{fl, qi-d[dPT, Tdq 3il{
omnfUe a-{i }'ft+Q fttt

ela cn-l

t-o d =Tq

srffi ftiYm fi rnq q frg:ff TTqT?

(A) 1rs. ,erfon

(c) d,{ft riq-fl

(B) gffq
(D) fufr

Page:2



Scientists of which country have developed more

potent, safer and cheaper plant based Tica

Vaccine against the mosquito borne Zica-Virus ?

I'n which state,

built ?

(A) Chhattisgarh

(c) Maharashtra

(A) Russ;ia

(c) u.s.

(A) West Bengal

{c} Uttar Pradesh

Which was the most

Mohenjo-Daro?

{Al Great bath

(c) Palace

(A) Silver

(c) Bauxite

first micro forest will be

(B) West Bengal

(D) Andhra Pradesh

(B) China

(D) India

(e) Madhya Pradesh

(D) Chhattisgarh

(B) Coal

(o) Gold

Q.restion ld : 13

Which State Goverment has launched a new

awareness drive "Namami Gange Jagriti Yatra" ?

Which l'ilm was named the best film at the lndian

Film Festival of Melbourne (IFFM) 20L7 ?

(n) Airlift
(B) M.S. Dhoni : The Untold Story

(cl Pink (D) Dangal

11. With which company Indian Railways signed first

EPC contract recently ?
(A) Larsen and Toubro (B) Ashok Leyland

(c) Mahindra (D) Tata

Qreslion ld : 1'1

important structure found at

(B) Tower

(D) Temple

'13. For which mineral is Hazaribagh of Bihar famous ?

12.

a,--}.^-'---lcF-g {I--q q qf{A OI qil3T qqq
wgrrT?
(A) uff$qs
(c) qd|{rsi

(B) r1ftqq

(D) Griil

fft q"Tftll

qrestion ld : 7

8 tfi-fl f,gT tn -l qaN r)
frwql fi fu-f,m GIihf, {rq{q,
q-{i Tflqft eilqrFn 1}ot
ft-oRla ftrqz
(A) {Rrqr
(c) GrqftfiT

lcDH \l\rq (1 xc{)t\

q-qfi- qg qFIstDdT
(A) qftqq Efrpg

(c) vfl{ rr+Yr

(B) 'ft-{
(D) .q|{fl

\ .--..--€+ -;*-1.-l+llltl {l.l

3{lqqH a)
(B) qrq

fumT
3iq
'\ql

q/eslion ld : 8

qT'IJ,

fu-qT tr

Qreston ld | 9

(IFFM)
-\-+cD \qY fl

6rd s ii

(D)

rr. f4rq{ #l fr {flal qrcftq i-f,}
{ fr,qft sTqq q{ EfiTTfl{ ffi 'r

(A) dmi{ stm gdl (B} srqi-m.

(c) qtrq1 (D) ereT

10. n-f,-q)-{ zofi d q-i-firr fu,sq fo-s fqtdq o) rrd*E fu-fl
flftf, ft'q qq z

(n) r'q{fuw
(B) \rq.gs. eTYft , q 3lr-etw
(c) fif6 (D) ErrT

(B)

(D)

A--
tcp\1

(Bl tDtq-i{r

(D) {qui

rz. ditr+q\-Esi i FrS eq-r) .rrs{"i
ifr sfrz
(e) rffiq
(c) qid

rs. P{sR o-t eqrfi-qrq
qft{€ tz
(A) qifr
(c) fr-qrHTild

eT-q{

TiFi
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14. Name the state which produces 90 percent of the
rubber in lndia.
(A) Tamil Nadu

(c) Assam

15. Who was the chairman of the drafting committee
of the Constituent Assembly ?

(A) Dr. B.R.'Ambedkar (B) C. Rajgopalachari

(c) Dr. Rajendra Prasad (D) Jawaharlal Nehru

16. Where are the Indian currency notes printed ?

1e. Which is the most populous city ?

(A) New Delhi

(c) Kolkata

(A) Anna Chandy

(c) Bela Yagnik

(A) Mumbai

(c) Kolkata

(A) Jana Gana ...

(c) Sare Jahan Se ...

Name the first state
literacy ?

(A) Kerala

(c) Haryana

(B) Karnataka

(D) Kerala

(B) Mumbai

(D) Nashik

(B) Telugu

(o) Hindi

(B) Cornelia Sorabji

(D) Kiran Bedi

Qrestion ld: 18

(B) Delhi

(D) Chennai

(B) Vande Mataram ...

(o) Jodi Shuno ..,

QJestion ld ;20

in India with cent percent

(B) Goa

(D) Tamil Nadu

Qieslion ld i21

17. Which is the most widely spoken language;]il t
?

(A) English

(c) Malayalam

Qrestion ld : 17

18. Who became lndia's first woman IPS Officer ?

20. which of the following isthe National sonfi''""'o''n

21.

15.

sf,ilqq -fi-l 90
qlq BZ

(B) o-deo
(D) 'h-{f,

l]qr al qrsrl T{frft zF-r

fr,em. 3p$wx
Trrq frq-f,[qr{}
qtriq wTfq (D)

i-g'I
ffi

14. rlT{fl d Rq{ +-
qrd qr-q oI RIT
(A) dfrf,{E
(c) GI*FI

rifrqTq
EIT?

(A) d.
(B) ffi.
(c) gI.

HTfrq otrff q)-c o-d' UBo etd
(A) Tg frd (B) glq€
(c) ote-oor (D) flfuo

17. qf{fl fr rrqifho qtqqt
qlEr otq'fr tz
(A) eiffi

$q$

(B)

(c) qFEItdrrI (D)

qrra ftt rr?rq qFdr ,:n$.fr.W.
q-ft z
(A) 3t=il ri$
(B) orEiftt-q {Jffi
(c) dET qft{f, (D) fu-{ur

otq trr stu{ lTfli 3Tf,ffr 3rTqrfr
(A) gqg (B) ffi
(c) o)-o-oor (D) N
Fq fr € ot-{ r+r srqtfto tz
(A) ..n;i rfrT....... (B) q-e

(c) qrt qd d (D) 'qlR

zt. sT(T ii Q11r qfrrTd {rTqr{dT q$
gsrrr q-GrI otq vn t 'z

(e) dsa
(c) eR-flq,r

(B) '.ilqT

T-{i qkTr

(D)

Qjestion ld:19

Q,reslion ld :21
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Which monument is the land mark of Hyderabad ?

(A) Gateway of India (B) Gol Gumbaj

(c) Charminar (D) Jama Masjid

23. Who is the patron saint of Goa ?

(A) St. Xavier

(c) St. tohn

(A) Latitudes

(c) lsobars

(A) Stratosphere

(c) lonosphere

Which of the following is

body ofthe UN ?

(A} IMF (B}

(c) Security Council (D)

(B) St. Thomas

(o) St. Andrew

(a) Delhi

(D) Agra

(B) Troposphere

(Dl Mesosphere

Qrestion ld i 22

z+. Which city has the largest number 
"t 

r"r;;il;
in India ?

(A) Kolkata

(c) Hyderabad

When was Mahatma Gandhi assassinated ?

(A) January 30, 1948 (B) January 20, t949

(c) November 30, 1949 (D) October 2, L950

When was an atom bomb dropped "" 
rt,r;;r;

(A) August 6, t945 (B) August 8,1942

(c) August 9, L945 (D) August 9, !944

27. What are the imaginary
equator called ?

Qreslion ld :26

parallel to the

(B) Longitudes

(D) lsotherms

Qleslion ld :27

28. Which is the largest ocean in the world ?

(A) The Indian Ocean (B) The Pacific Ocean

(c) The Atlantic Ocean (o) The Arctic Ocean

In which atmospheric layer do most of the
weather phenomena take place ?

Queston ld :29

the most important

U N ESCO

None of these

otq crr srq-r tesm.l qtl
(A) rtEA Giiw. gRqI (B)

(c) q-{ftqR (D)

frqr .fi-r r{,lq-o
(A) +;e dfrq-i
(c) t-€ ail6-{

ril-{a q f*q{ Yrfl d
€z
(A) otm-flil
(c) t<rmq

Tdrf,Tr qitff o1 asr
(Al \ilfl{fr 30, 1948

(c) f,dqq 30, 1949

,wqffq0

-)-.llql

$TTqT

(B) fw
(o) srirrst

an g{ eft 'r
(B) ranqft

(D) irree-ii

qrqieq 6l@ft+-

q6ql-{

riadqtz
(Bl it€
(D) ii€

Qrestion ld :22

Q.reston ld :24

1949

1950

OJeslion ld :25

SIT?

24.

RRrqT qr o-q wqpJ "rq Frsrqt
(A) smKT 6. 1945 (B) Grrf{f, I
(c) Glrt{d 9, 1945 (D) OIIr{<I 9

1942

1944

Lreslion ld :26

CF{IT27. T-qrq i-er d
i-s-crfr *z
(Al eTqTiyr

(c) qlqqrq tsr
*TiqI
r$qilq i-€T

F+rq *-r *oqi) fufld rggq otq * t ,*""oon'o'"

(A) R< qgrcrrr-r (B) !€tif, qETflTq

(c) ercaiftm q-drcrrt-r

(D) sil-S-fuF- qgrcrrrx

q erf*"onq Th
dqqo-gld
rltzFlusFT

Oueslion ld : 29

l]gffi qrq (uN) or qrqiffo

(B} ;TM
(D) -{+i d ot{ r-S

Qrestion ld : 30

(B)

(D)

fu-q- qgqo-s-ftq Kq
q-c{r( qfrn E}ft tz
(a) glqf,Mqr-g61 (B)

(c) sTpF1qrrgeT (D)

(-... : -; --j\-l-l+-l +l \1 Cr)lr

Td-dg"t eiq tz
(A) sn$.fq qF.

(c) Eul ,rRv<

Qresiion ld | 30
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31. Artists are generally whimsical. Some of them are
frustrated. Frustrated people are prone to be drug
addicts.
Based on these statements which of the following
conclusions is true?
(A) All frustrated people are drug addicts

{B) Some artists may be drug addicts

(c) All drug addicts are artists

(Dl Frustrated people are whimsical

Qjeslion ld :31

There are five books A, B, C, D and E placed on a

table. lf A is placed below E, C is placed above D,

B is placed below A and D is placed above E, then
which of the following books touches the surface
of the table ?

(A) c

(c) A

baa_a_a._bab_aba (Which letters are appropriate
from following to fill the blanks ?)
(A) aabb

(c) abba

(A) Fish-Water

(c) Bird- Tree

Coal : Black :: lce : ?
(A) Water

(c) White

(e) Light

(c) Projector

(B) B

(D} E

(B) bbaa

(o) bbba

(B) Water- River

(D) Coal-Mine

(B) Cold

(D) Green

(e) Film

(D) Screen

Sreslion ld | 33

34. Choose the odd one from the following:

Oreslion ld : 35

Classroom : Blackboard :: Movie Theatre : ?

Orestion ld : 34

Qrestion ld : 36

31. cFFlcFT{ errq ff{ q-{ q-{qfi d-i t I sqEi fr
gE 6-d)-d{rR-o d-d t r

6dkrFd-a ff fi qqiffi qqrerl * q-ql-ft *i
6l €qqqT $ I

{q s.ar4i * entrx q{ qilr{S flfr frETfufuf,
ii tot{FTMe€tz
(A) Hfi E-di"mtr-d dq qehfr qqrcrl fr

qqrfr tr t

(B) gE qtdmt-{ Tyftfr Eqrefr fi qe-ft E}
1Tqti g 

I

(c) trR qqffi Tqrsrl 6 -.rwft o-oron *d
dt

(D) E-dtnflltf, trtq {rrat e}d d r

32. v6 trq sq qiq T{fl* A, B, c, D .i"';{d $ | qR A, E fi ft-d, c o} D fi sw,
B o) n in +a eilq o ol E *. s.q{ {sr
qrq, d ftqPP. q t -6t{ fi grno tu
Ot rrAO OT s(rrft e

(A) c
(c) A

33. baa a a
sTETq frfl
(Al aabb
(c) abba

(B) B

(D) 
E:

QJestion ld : 32

bab_aba $rnfufun ,t e @tq e
qen-q trG ?t fuq sfurr dz)

(B) bbaa
(D) bbba

34. Frqfufuo fr e' n* irl q.r-{ olfrg :

(A) qEffi-qq (B) qrfr-Tfr
(c) qefr-ge{ (o} +tqar-Erqr{

35. @i{f,t : o-t-c,Tl :: qfi : ?
(A) q-fr (B) .tct
(c) rrt--q (D) Err

Q.restion ld | 33

Qreslion ld :34

QJeslion ld :35

Sreslion ld :36

(B) fufl
(D) riffq

30. qg;g1s-q : ffi :: l$q* ' 
"(A) d|-{d

(c) fG-+eR

Pap:6



37. ACAEAGAIA?
Complete the series.
(A) Q

(c) K

38. How many squares are there in below figure ?

(B) s

(D) 7

BAD = YZW, MAD = ?

(A} MZW (B) NZW

(C) OZW (D} LZW

A's weight is twice than B's weight.

B's weight is 4.5 times the weight of C.

C's weight is half the weight of D.

D's weight is half the weight of E.

Who has the least weight among all 5 ?

(B) P

(D) N

r-l--t
t-- -f---1ttl

(A) 4

(c) 6

41.

(A} A

(c) c

l^l 22

lcl 24

A trader mixes 26 kg of rice at { 20 per kg;;lil;
kg of rice of other variety at t 36 per kg and sells

the mixture at t 30 per kg. His profit percent is:

(n) No profit, no loss @l 5%

(cl 8% lDl L0%

A man has some hens and cows. lf the number of
heads is 48 and the number of feet equals 140,

then the number of hens will be:

(B} B

(D) D

(B) 23

(D) 26

42.

IA?

(B) P

(D} N

37.ACAE,AGA
doTI goi of t

(A) a
(c) K

t-Hlll
(A) 4
(c) 6

41.

qtrd .i" #"'g',
* eli t-{i a1 ricql

42. gfr 3Trqfr + qK{ gE
qfr srfrl ftrq qisr +s

(B) 23

(D) 26

sa ftA fl T$ qrFfd q fiId o'i t z

(B) 5

(D) 7

BAD = YZ:W, MAD = ?

(A) MZW (B) NZW
(c) OZW (D) VW

AorqqqBdgnrt't
B o-r qv|q c rl +.s TqT t I

cors-|rDrleilwtt
DorqqqErieIItIrtt
lgfi frq cffi q fo-q*m oqq rrq-d o-q t z
(A) A (B) B

(c) c (D) D
Q0estion ld :40

go qqft ( zo qlt ftd qrd zo fr,-d)

qrerd < 36 qfr ffi qt-A 30 m qrdrf, q

ftDa ffqiTr t efr qii fr&Tor < 30 eft ffi
q +.{flr t a\ sfl-b iqlrT o-r eFqlf, qql *ql
?
(A) o-lg drq, o-lg gmr+n r€f t

(B) so/o

(c) BoA (D) 10%

140 t d UnW ffit e}..ft z
(A) 22

(c) 24
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a3. Speed of a boat in standing water is 9 km/h and

the speeld of the stream is L.5 km/h. A man rows
to a place at a distance of L05 km and comes back
to the starting point. The total time taken by him
is:
(A) 16 hours

(c) 20 hours

44. The expression (L1.98 x 11.98 + 11.98 " - . ;.;; '
0.02) will be a perfect square for x equal to:
(A) 0.02

(cl 0.04

(A) 2010

(cl 20L2

The value of

(A) 0.006

(c) 0,6

(B) 18 hours

lDl 24 hours

(B) 0.2

(D) 0.4

(B) 2011

(D) 2013

489.X3 75 x 0,04S3 x 1,956

(B) 19 years

(D) 38 years

The price of commodity X increases by 40 paisa

every year, while the price of commodity Y

increases by 15 paisa every year. lf in 2001, the
price of commodity X was < 4.20 and that of Y

was { 6.30, in which year commodity X will cost

40 paisa more than the commodity Y?

47.

0.0873x92.58 Lx99.749

tB) 0.06

(D) 6

The least number which when divided by 5, 6, 7
and 8 leaves a remainder 3, but when divided by 9

leaves no remainder, is:
(Al L677 (Bl 1633

(c) 2s23 (D) 3363

A father said to his son, "l was as old as you are at
the present at the time of your birth". lf the
father's age is 38 years now the son's age five
years back was:

{A} 14 years

(c) 33 years

QFslion ld :45

is closest to:

Questign ld :48

+a. ilot et eTq-sr$ qe'T q rrft g ft;fr7det *
eilq qRr of rft 1.s l?rfrrdei B t vo sTKfr
105 ftilft .i{ Rera {elrq e ch- =itor f+Arq qrEol

t 3il{ g-fl} gF fi lGig .R ilq-q{ 3Tror t I

B-{-b grgt ft{qr rrql T|Tq ti
(A) 16 re
(c) 20 rjt

(B) nB dd
(o) a+ tit

44. (11.98 x 1'1.98 + 11.98 x X + O.O2 :1;;

?
(A)

{c}

(B) 0.2

(D) 0.4

(B) 2011

(Dl 2ors

489.1-375x 0,Oq.83, x L.956

(B) 0.06

(D) 6

47. ot{ rfr af+oq €cqr d s, 6, 7

furrTfod qt{i rf{ 3 qTq iffi t
fr'qTfu-a o.ri w 6f€ fu =df tft
(A) 167r {B} 1683

(c) zs23 (D) 3363

Oreslion ld :48

aiqf,, x fi e'}q c) qr|{ + fuq y'i q.f +T

0.02

0.04

x ilg QT qrs d{ 1]TFr 40 q-q-r q6Trr t,
q-qfu Y qrE cnt glcl 6l.{ lgTe1 15 tqT q-Gelr

t t qR zoor fr x ota qr qrcl < 4.20 ot{
Y ol q|q { 6.30 ar d et{ rt vrro fr x
q*E, or ulq Y q{a 1i 40 rtflT -qt-fl *'n z
(A) 2010

(c) 2012

Sreston ld:45

c\-----)-cpl +l l-l lcntlcD
0.0873 x 92.581x 99,"749

qq-+n t ?

(A) 0.006

(c) 0.6
Qrestion ld:46

3ili B ri
ft-;a o a)

\'6 ft-ar ;1 31q| gr e o6t, *tt q;GI {firq
q{ snft q ffi Gil-q or i} soil fr ti ert t"
qR Gnft'li-cr o1 sq 38 qE t, d g-d o1
fr-q vra rrd-d at ss efl ,aft z
(Al 14 qTFI (B) 1e {{TeT

(c) 33 lfkf, (D) 38 lfIFT

Pap:8



ae' A and B together have (

amount does B have?
(A) t 460

(c) < sso

t270. lf a of A's,ic

amount is equal to I of B's amount, how much
5

50. The difference between a two-digit number and
the number obtained by interchanging the digits
is 36. What is the difference between the sum and
the difference of the digits of the number if the
ratio between the digits of the number is 1: 2?
(A) 4

(c) 16

determined by its
(A) Electron

(c) Neutron

(A) Mars

(c) U ranus

(Bl { 484

(D) < 664

(B) 8

(D) None of these

number.
(B) Proton

(D) Positron

(B) Carbon

(D) Nitrogen

(B) B complex

(D} D

51. The position of an element in the Periodic Table is

sz. The bodyguard of the Earth is

QJestion ld : 51

that
save the Earth from many Comets and Asteroids.

(B) Saturn

(D) Jupiter

53. The principal constituent of the atmospherJffi"
Earth is
(A) oxygen

(c) Hydrogen

54. Carrot is good source of beta-carotene, ffi^';
converted into Vitamin
IA} A

(c) c

in our body.

Sreslion ld : il

A ofk B * qrqr g-f, l}_dTqx t 1210 t t qR

A sl qlRr or * di qrT B o1 qtRT it
-L5

3 d q-q +. wrd-{ t, d) B *' qrqr ftailfr-

rrfrr E)fr ?
(A) { +oo (B} ?' 484

(c) t sso (o) (' oo+

qi GT-fi qkfi €cqT eiq Gi-.tri ot #--".fi
fr-{i € crrd €f, riuqr fi ehq { ao or sin-{
t I duqr fi eio-i A Gid{ siq fq + +q
sic{ qqt Ehil qR rjrsl it ffi d fiq or
ci-Eqtf, t, z: t r
(A) 4 $l g;

(c) 16

(D) flq qi \'f, fr qfr

9s-+101 Rarfr
-.)--.4. SF'
Etft I El

51. Gil-qd g+r$ft q
-fcqt

GEtr
(c) q-ETq

gzfr o) a€
fuq gzfr qn
(Al rirfd
(c) qhT{

gofr fi qkilcf{tr1
(A) efr-fliurq
(c) u-gqtqc

gm' eGI
-; n,,,-fc\ ,\1 ttq il\fl

(B) !fet{
(o) q)frfr-q

qqrb-g erfi
qerm'@)-i tz

(B)

Afd.rd t e-n-i fr

AIfr

(B) g 6ffion
(D) t)

Qrestion ld : 52

QJestton ld : g

(D) qwqft

__+cr)l 9tl(l4 Elccp E
(B) qtr$q

(o) -qre*qq

rrlcr{ fr"er--*-++q o-r 3r@l q}"4 t \il fu'
Eqrt YTfti q ffi{ q qRqftfd
__\--\'El \'ll(l 6 |

{A) A
(c) c

Pap:9



The Carbon dioxide in the atmosphere, by volume,
is approx.

tAl 0.03%

lcl I3o/o

(Bl 3s%

(D) 30%

(D) sea foods

(Bl 64%

(Dl 75%

ss. qfilrwq d
eqr tr
(Al o.o3yo

(c) B%

(B) 3.e%

(D) goo/

rgv *r t
q-Rq'qi

ordq srdrwrrgs of qm drrrrr

The rich sources of Vitamin-C ar.e
(A) green leafy vegetable

(B) Seeds

{c} ciffus fruits

The instrument used to measure wind speed is
tAl Anemorfreter (B) Barometer
(cl Hydrometer (D) Hygrometer

Q.reslion ld : 55

QJeslion ld : 57

Earth's

Q.restion ld ; 59

Qreslion ld :60

QJeslion ld :55

F7.

5e.

59.

frdiF-{ C or
(Al Ffr q-+{lr
(B) fi-q
(cl qs-i:t w-f,

qq{ fr rft qTTi

{tiqTd d'n t'z
(nl tffiftcs
(c) erlq)ft-{

qd gsfr ftt qsr6
dvcr *z
(A) 60%

(c) T1o/o

1o1 qgfr srg qEref

erestion ld :56

fi ftq otq $r sq-qxq

(B) dt+eq
(o) srqqtfi-er

e€stion ld : 57

g{ Frrlrrrl ffi qrr6

(B) 640/0

(D) T5o/o

Water covers approx, of the
surface.

l^l 60%

tal TtYa

In night, when photosynthesis is stopped, plants
(A) take in Carbon dioxide

(B) take in Oxygen

(cl give off Carbon dioxide
(D) give off Oxygen

{fa q }r+-iqr-{i{AqrT GiE E}fl t, dri
oFf-{ sr{ei-nrrgs q-6ur o-{+ d t

ffiwr r6q o-{+ t I

qft erwfr's{nf,s idsi t t

eftffiwi dq-d d r

Qrestion ld:59

qhn flo-q e-m-n A ,Tff

(t]) TiqE{
(D) Eqii € ot$ qs

Qreslion ld :60

59. qGI

(A)

(B)

(c)

(D)

6q. A person seated in front of a fire receives heat by
(Al Conduction (B) Convection

3il-q fi {flqi t-dl
mw s-{flr t?
(a) qtcfi
(c) fqfu-{,ur

lgt Radiation (D) None of these

Pap: l0



61.

ENGTISH TANGUAGE

Choose one option that expresses the meaning of
the sentence

A disease or accident which ends in death?

Choose one option that expresses the meaning of
the sentence
A supporter of the cause of women?

{A} Fatal

(c) Fastidious

(A) Effeminate

(c) Sophist

(B) Drawn

(D) lllegal

(B) Loquacious

(D) Feminist

(B) nt a distqnce

(D) Very near

o.t,

QJestion ld :62

Choose one option that expresses the most
appropriate meaning for the ldioms out of four
options.
At arm's length?
(A) Length of arm

(c) Insult

qrestron Id :63

Choose one option that expresses the most
appropriate meaning for the ldioms out of four
options.
At daggers drawn?
(A) real cause (B) to be puzzled

tfl at enrnity (D) at friendship

Choose the most
four options :

Qreston ld :64

appropriate preposition out of

He complains

65.

{A) of
(c) from

headache.
(el off

(D) about
Qlestion ld :65

For blank space, choose the proper article :

Toronto is located on
(A) a

(cl the

Lake Ontario.

Qrestion ld :66

(B) an

(D) no article

67. For blank space, choose the proper article :

San Diego is located near Mexican
border.
(A) a

(C) no artickl

Q,/eslion ld :67

Choose the option that elxpresses the meaning q[
the given word.
ANNOY
(A) effective llBl hatred
(C) suppress lDl bother

Q.reslion ld :68

Fill in the blank with suitable option,
He was from all charges levied
against him.
(A) apprehended

(cl enigmatic:

(lB) Enemy

(D) Fail

(Bl the

(D) an

(Bl judged

(Dl exonerated
Oueslion ld :69

20. choose the crption that is opposite in meaning to
the given word.
FOE

(Al Friend

(c) Foul

QEslion ld :70

Pap: ll



Rnfrqrqr

Fqqt frffi ffik tn'r sTel
.{f(l €;TI,. ?
(AI vFT ttqT iFS W o€ttl
(cl fr q +t€ BErR
(Dt u$s qqr6 T{f,

,qFdRiq,

(n| gq
otq v+r sqrqr tz

(Bl

n (Dl dqsq wqnl

.q*fq, qft fff6 t-fl (B) Ercn:

(c) qq):+ (D) qq:

WqRT

4. ,+S S
qFFI EFT

(n| ssq
(C) T{Tffi

f
(c)

(cl sfrqf,,

''dgqii
qrq t
(A) l:Qnfr
(cl ga+l$

ftia
ffir

w*
E-

QJston h :73

qrf,r {6r l,

+sa)

qJstmld:74

#r,i*g{rr

qfr
I

Qroston lg :75

qr$ tz
orift-or

QJslton ld :76

faq \-o

Qresiion ld : 72

QJstion ld:rf

q{ ka odqtfui o1
otq q+r srgtz

(D) qTd

(B) fr
sgt (Dl ;|-s tl

(Dl 6'ift,

{sil t, qil-wiqr

tr$
(D} d|qI

frqq€ m-r otq $rf (B) ciltrs,

78. 3{qq-Bqq

'f*i
(cl

{fiffifr frqtro t
(Bl fts{-qfi
( o| qtqi-\rd,,,,,,,,,,,,,,,

7e. fts{ { t lfuq grq ii 3Tq sqs{ ,

(A) GTqfrdl tst qqfut
(cl cfclqFm * 

.$

eo. rjffi vd' q otq qr ndqs oqr t r
(A) q (Bl t
(cl dr$ rffiffi



81. The Haryanvi Ramayan was composed by
{A) Khuda-Baksh Ahmad (B) Mohammad Afzal
(c) Noor Mohammad (D) Gulam_Neelini

82. Who was the first speaker
Sabha ?

(Al Hisar

(c) Fatehabad

of Haryana Vidhan

(A) Manphool Singh (B) tshwar l>ingh
(Cl Shanoo Devi (D) Kuldeep Sharma

QJestion ld :82

In which of the following districts, Rakhigarhi site
of Harappan civilisation was excavated ?

(B) Sirsa

(D) Kurukshetra

Qreston ld | 83

Who among the following is known as First State
Poet of Haryana ?
(A) Tulsi Das Sharma (B) Jaimini l-{aryanvi

{c} Udaybhanu Hans (D) Surendrer Sharma

of Geeta Phogat is associated

(B) Shot-put

(D) Paul Vault

87.

Mango fair is held in
(Al Pinjore (B) Bilaspur
(c) Kurukshetra (D) Sonipat

All of the following rivers emerge
Shivalik ranges, except :

(B) Saraswati

(D) Tangari

88. Manganese is found in which district of Haryana ?

In sports, name
with
{A) Wrestling

(c) Boxing

(A) Ghagghar

(c) Yamuna

(A) Hisar

(c) Karnal

(B) Mahendragarh

(D) Gurgaon

Question ld :85

QJeslion ld :86

from the

Qrestion ld : 88

sz. gftqpn ftqm qqr fi rqarrl errqel dq $ z(A) {rT-a Rf6 (B) €r*q ftiE
tc) yr*i *ft (D) gffi+q ylqf

Qreston ld :82

e3. mfud beil q q) m-s-q E-sqr {{lqrTT o.r{Rfui {alr{ g}fl- rrcrr arT ?
(Al k$n (B) Rrcsn
(c) E-ifl-q|ti (D) g,F*,

at. gftqpffi {Fnqq o1
{e) qsmfitT erssrE

(c) W q)-$qq i

FfiI qi Eft

i (B) +n-5qq GTs-q-d i
(o) rt-olq-frfrrfr i

e€ston ld:g3

,qeIII TfuTI Q_B, €

Cltufr El-M
{tlq vrqf

84. ftq q il qilq ERqlor oT
qril q-f,r t z
(A) qdqft{Rr ylqi (rB)

(c) sfirqrj €q (D)

+r+q ERqql
(A} Ril{
(c) o-q;TIcI

di fi e}l q fior wlqe "nr 
qFr qffifff, t

(A) gp-fr (B) qfre-g.c
(c) qfN.T (ol qftr dfue

3il-q +dr forr ero q{ ifflr ir ?
(Al frfdr (Er) furrcg{
(c) gvetr (E,) rtifrqd

Fq r{q Efurr) or GTqir{ur -ffi
qfidqrdT3rt € E +r t, frirrq ,

(A) qrrru (B) Tflsft
{c) qgqT (D) eFfs

Q.testion ld :87

+ fu-s lird r{ ft"ocr t z
(Bl q'*,qq_6

(D)
TEIT|q

87.

Qleslion ld :88
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Es. Timur made an attack on which of the following

Khwaja Altaf Hussain Hali was a
(A) Peasant leader (B) poet

(c) Freedom Fighter (D) Sportsman

Srestion ld : 90

e1. No. of representatives of the state Haryana in the
Lok Sabha is
(A) 1s

(cl L2

cities of Haryana ?
(A) Sirsa

(C) Hisar

(A) Rubber tyre

(cl Refrigerator

(B) Fatehabad

(Dl All of these

(B) 08

(Dl 10

(B) Tractor

(Dl All of these

(B) Rewari

(D) Faridabad

(B) Gugga Naumi

(D) Diwali

Qjeslion ld : 89

Qreston ld.9l

Qiestion ld i 96

e2. Which factory is situated in Faridaba<J ?

Qrestion ld i92

e3. Bana Bhatta was a friend and state_poet of the
king
(A) Prithviraj Chauhan (B) Harshwardhan
(C) Anangpal (D) Hemcharrdra

Which district of Haryana has the lowest literacy ?
(A) Mahendragarh (B) Rewari
(c) Bhiwani (D) Mewat

s5. Bhindawas Wildlife Sanctuary is located in which
district of Haryana ?

{A) Jhajjar

(c) Gurgaon

Queston ld :95

eo. Chhadi folk dance is performed on which occasion
?

(n) Holi

(C) Dusshera

se. mtfud q t 6Rq-Tr fi fuH r.tr qr ffWi eroqq lb-ql er u
(A) ftjRTT
(c) Ftl-i

(B) w-til-qrE
to) it qrft

eo. EqTGTT stcrilq g-qtq Arcn .t

SI. Filfr- {{qT
ricql t
(A) 15

(c) 12

6RqqT o-r $fliqntz
(n) q*qrro
(c) fffi

ffgtqtr{ mrg-q
ffidfurotz
(A) g$(ilr
(c) 

T.s-trq

u-9 eii-o-acu 6-q
(A) +ft
(c) Eslf,qt

(A) fu{iln ial (B} qtf}
(c) Tqeh-dT drn-fr (D) filerg

Qjeston ld:89

Qreslion ld :96

e.reston ld i 90

,il eRqrun $-q fr qfrfrfHi o1

(B) 08

(D) 10

94.

sz. qrQ=fl-qlq d d-{ qfi stncft fi z 
Qresrionrd:e,

(A) vqq drqr (B) *rrq
(c) tfu"rtol (ol t q1$

qtur+r-d ffi-qr {lqr fi Fn q qlqoB e) z(a) yp,-ftErq +6Tq (tB) Mq
(c) Gr;iTqtd (pl trrqq

o-q qtqT{fl' qTdT fu-mT d.q

(B) f-qffi
(ltl tqro

Qrcslion ld :94

3Trffl{uq ERqrqT fi fr-s

(Br) i-ql-q
(D) qr{tfl-qrq

3ttNN w ib-qr r*-3-;-
(B) Wr r{fr
(D) furfr.
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Vulture Conservation
Centre is at

(B) Fa
(cl Yam (Dl Karnal

In Government
Kamboj to constituencv

ffi,ffi$(A) s

(cl (D) Bawal

When did famous Secord
between
(A) 1s25

(cl 1191

.Markanda

(B) Mewat
glacier (Dl None of

Breeding

QJ6tion ld :98

of Panipat

e7. Frq q qsFri s-q
Tsfl=f q-{

'ffi
(cl

and Hemu take place

ffihffi
(Dl 1X.92

originates fronn

(cl 1191

100. rTrthu€:l

(c) qrrtfr
ffi

o-d i+ ftqrerft t z
(Bl +flil qfl1

rol gfi q
Q.reslion td:100

ld: gt
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SF lraa-ttrr +t ra qri t qfl* Trcr ftafi *,) G
3pqfitet * fus Fdelq ftftr

1. tr+'fi wa +t 5e 6t-str q-ct.fi ** * fr,2' 
ffiH *H**:*j -1t-IlF":tr w oMR rd{ crs nd -,ftqr sril r r :reqffi.qr +} ror.r dT ;ffi Bl"l;"TH##f#i*rfr;€i \#* t t itrs efi q-nn fi hr4F cT('sni q{ 3req?ff slt qftfiqr* d tTE sd-*c artr oMR j?a-{ ca-fi e-{crdr +fr ilfr. r cfreilcri?T 6ti * cFq F-f,d qeqrE € fl?I*.r+6i rr< l+sq ilfi kqT"11ra1r I3. Ss gtra-+r sl|r ON4n 3Hr qri?F.f scr 3rqil ta a-ryr fr.uar a qf f4. wa-gFa-+ slt{ o[4n rtr{ c]rs.+ fuS cft Ts s} d d sr}:fr a at.S r5' 3oqEql qi Fq€ qafiq trael-qr anr t 1?-s qr Erd & fr dt', erqr izfl-a qld r€'..na cr Eq-6r d-dr ert... fti e frer g:n F r rs
R1-TJPSTfltg..jaf | u*Tt sfttu; qta ilrn FTr (16 qfrilq-r{, *€ fr $ea,r msd;q, }ra-crdr

ffik#T sr6, o'snr rTa d + +ri r,+ cfrqTr_#i c{ drn'*** r", ;Y#;;;; ##,ffiHT ffi
6' 3'sqefioMR3an-q"Tu1T'fua':lfrg*-d-c- sfiT rqfigs-isd. ifurE*ilo,*era srfr.,stsrdrf,rtqr(,6.s3rtunss-d-d t. R@ A('erq t qr frftqerr * rita rla aryr afi eTt rR, t -t Oe eraa rftt d ra arqr q*_*e ;;i. 4Fn ;rrrflT 3lt{ 3ffi{_q:rq;firq.qimdilffF6.rdrqrrrgn-*ca.Rr.r-+*ffim*m*ff3frqrwrt+or:+#u*aon"rr*t6rTrra-**Rqr*rcrfi

drn t 5w-rmrff 3Tqi Erf ani h gqE mr :itr aFdr-3,*qefi 3{T} Ert Firr * 3rrtb +r si+-a J'trerfil-T{-6 cr, oMR 36,* qfi, s{ 3o,-{Er+}Ats'ashd d *n gk Jf{d Femr cr d€t1T&rr sfi +.1l1 |7' cfreil-d-fiiicfufrerfifi3cRlfr*sllqfleH*)c-+er-q{qrdeqratfresann6riH3lk3rr"rbhFrsn-da;}il 
t8' 3r*rfthilst+drfififiililtft'*oun 

'ft,.-Er.'*ffi$ronisT3,"rEl*fi.ftlraa*rtr+rafir*eti roun 3F.*q..rfi f3c tfi ffi 3itr ,'ri * wq 3t frr+ *.fu(, r€, arqa, e*s, q+q Tra qo* I rr{e_*. $Tfr sT rctrr il ff,-* srFs mrr t TS srfr\r** *'* fritr t r qft tsr *ri t at 3B-{ trir'.fi'ftreia a'r fui;n'rn st{ rrnfi.r rpuiaa nfi Ffqr Er*rrn r9' 3{&qffidi mt ffi fr drfi t fu * wra, ater5a mta, fu{fi efi c-mr *I Es, +"c, $-dEsyFs qr sER sqoft qr, +fl, sr;"-fr, gt-qr, enftrr3lkR€rg:rffi*frr'a-csc'EretcftEjr-t-djtadard3lkafr:it&,*a,*rag.q6a-iffqrfu+t11l*-sefic6Rsr31Tlrrq
q6d'l 9-d rq3Tt * urq Gffi sfi s?;wff +) .fteil-Ef-d d c-d?r a-fi kqr il\,rn I cftfir_irq1 t 3iq-r fufr spqefi t qrs qfr e}ergo nta artS & st$ a-Fg B-d-6r :-+*o sc{ fuqlrrqT H, cr* ;Tfr F dt SS fut fir afui-r s"iis-d qrflr ;T(rqT :lk q.fifiT fr 3*fr n*qffia. F-ru-s+-r fr qr('Jft ilrT e{fr'q fr ff dr} drff cfreTBit fr jqtrqa fi w aft cF_d_*r d_fl.EqT dr(rJlr I10 €tu-a vfrenG frfierur ii 

Y-=:T{F 11ul* "nruo ".rv 
*-".T, ErqrAr* .ir + 3r{b * frsn-n **. sq*rrtr e,.dT,sta d'q-;Tr, *Bdqrft st. +q{ +r c-+{:nfr qnm-a d iltn;rn-n s} tnr m,qh rtk.q:r*qefi n "#'*J,#.FJilJXHT,11' cfreTr-t-q ti cR-mfd'qT ctfiI-FFd fr $-c t .{ffim *'ftiu 4'6* afi s{eq?fi ff cnftn w F+qr. d-61 ihql.dnr'T Itz' qfrfrw* ilsRr rlqi-q{ qr-'qRqfr w-* fr :+qeff + {+' f+u E qtd fir frsra g,*qrff t fu-fl d^,"n I e+:r:ff.slt*s-h sl.l *,scqnra3lk qfsFr fr ffi efr efiR ff ffi cK'irri qt sreqefi ol q-fteTr d' c-der fi :r,flqfr ilfi fi drqrfi rfu sF 3nq*,fum afua qy q.,,et"nt
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